
Installation Instructions

p/n 89042002 rev E sheet 1 of 1

www.symbiote.com    300 N. Centennial Street    Zeeland, MI  49464    phone 616.772.1790    fax 616.772.1797
Technical Furniture

Material Handling and Assembly 

Tote Rail

Product Numbers
•	 TRxx 

Hardware Pack:  HCP4 (p/n 88081504)

At designated mounting height, install hanger clips on 
left and right sides of the frame. Ensure the clips are 
at the same height and firmly seated in the hanger 
frame slots.  

Align top hole in Tote Rail with the top threaded hole 
in the hanger clip. Fasten rail to clips with one  
5/16-18x3/8” Phillips pan head screw per side using a 
#4 Phillips screwdriver.

1 2
5/16-18x3/8” screw
(88080273)

hanger clip
(880324-8)

Required Tools 
•	 #4 Phillips Screwdriver


